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= == Ol &F oH J & A Husz
600 Atgiz=ol 32,581,528 32,063,928 517,600
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o FYI2Rs¢ (4,486) (4,486)
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O HMIIHEAT =5 (24,605) (24,605)

o HI&&H==&(97kw) 91,6002 X122 1,100 0 1,100
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5,000,000 X3& 15,000 0 15,000
215 =32H| 636,000 612,000 24,000
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O &= 23(HY) g2(28) (73,260) (73,260)
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o FEFIHI 50,964,000 X1/12X60%X23! 5,097 0 5,097
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o =0 60,2402 X0 X250 0 15,060 A 15,060
o JZ=¢ 15,060,000& X 1/12X400%X0H 0 5,020 25,020
o ZEFIHHI 15,060,000 X 1/12X60%X23I X0 0 1,506 21,506
o AZ2t2222z% 11,205&X15A1 2EX12&X0H 0 2,034 A2,034
o0 mE=adsd 60,2402 X1EX532X0H 0 3,193 A3,193
o HXREFTIIH=Y 60,2402 X1EX152X0H 0 904 A 904
o =&l 130,000&X1ZX12@ X0 0 1,560 A1,560
o CHEI&=H| 50,0002 X1EX12&X0H 0 600 AB00
106 MR AH| 42,600 41,100 1,500
106-2 A g2 LH| 21,240 19,740 1,500
ESE= N (4,500) (3,000) (1,500)
o 8=~9= 125,000&X38 X123 4,500 3,000 1,500
200 &l 309,532 304,882 4,650
201 LEt2FH| 139,976 135,326 4,650
201-1 At 2teltl 129,896 125,246 4,650
O &ot+ZAsE (9,600) (7,200) (2,400)
0 DRI QI 403 X240, 00004 9,600 7,200 2,400
O DXNANES AHOoIHZEH SEPY
750,000 X7 2 5,250 3,000 2,250
300 Z240IA 216,428 171,000 45,428
301 LEtEAF 528 0 528
301-10 SALAIHI 2 &) 528 0 528
O DIzt 2 3oz ZEl
8,000 X1AIX118X6& 528 0 528
303 Z&2 5,000 0 5,000
303-1 Z&= 5,000 0 5,000
O =23 MEd=s L43
5,000,000& 5,000 0 5,000
307 2IZt0IA 210,900 171,000 39,900
307-13 QItH & E =X &H| 210,900 171,000 39,900
O &= A A& sx=2
950 X18,500&8 X 12& 210,900 171,000 39,900
780 Eg &4 5,074 5,000 74
782 MI|EAFEA 5,074 5,000 74
751 Btttz 74 0 74
7512 AIEHIBXZEE 3 74 0 74
O 4T SSRALIAIAY PSAIY &M
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800 0ilHIHI 3,886,784 4,034,389 A 147,605
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NELEEP 2,601,828 as2 6,433,500
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eExa 5] 40,173,321 ESTETE 128,000
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O 83 22,000 Bia=Xl 4K AlIE8==(5,500E)
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O 838+ &N 1K, SEXN 1K B=
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[ 0 30,000 30,000
2 0 175,000 A 175,000
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[ 0 30,000 30,000
z2 0 175,000 A 175,000
Al 500,000 795,000 295,000
800 OflHIH 27,138,649 15,071,752 12,086,897
801 OllHIH 27,138,649 15,071,752 12,066,897
801 oIl 27,138,649 15,071,752 12,066,897
O ol dl Hi
~ 27,138,649,000 27,138,649 15,071,752 12,066,897




20188 & =& 13l

4. =2 A=
0+eX3
(etel - &)
e CEETOY oA 5 2(A8)
> o X 2(A) 77,122,876 58,383,180 18,739,696
Y=o Al 31,787,448 31,267,448 520,000
MNES9 29,142,948 29,142,948 0
= - =S A= 2,632,500 2,012,500 520,000
JlEtE &2 112,000 112,000 0
A Al 794,080 796,480 A2,400
Ol Kt==¢< 200,000 200,000 0
Etsl A& Y S+ 588,080 590,480 A2,400
JIEtE &2l =2 6,000 6,000 0
A2dos+=g Al 4,251,828 4,251,828 0
NEEES+E 2,601,828 2,601,828 0
Bl HAHEE LS+ 1,650,000 1,650,000 0
=E2X= Al 40,173,321 22,067,424 18,105,897
ZHALH= 40,052,415 21,967,424 18,084,991
Ol+== 120,906 100,000 20,906
dEE 0133 Al 116,199 0 116,199
H =l 0E= 58,423 0 58,423
A D OIES 57,776 0 57,776




20188 & =& 13l

OXN &R 3
(etel - &)
e CEETOY oA 5 2(A8)
X & I 2(B) 46,097,443 39,277,039 6,820,404
HHIE Al 28,689,670 28,024,539 665,131
= F =4l 2,460,494 2,394,136 66,358
&=t 18,245,557 18,245,557 0
B -= ==t 3,710,607 3,646,607 64,000
= - =3 Attl 2,532,500 2,012,500 520,000
otk d| 1,740,512 1,725,739 14,773
Sga Al 5,074 5,000 74
dI|E=Z A 5,074 5,000 74
REHS Al 6,591,500 4,407,500 2,184,000
TEES 6,438,500 4,279,500 2,159,000
A2 25,000 0 25,000
3J|7HIS 128,000 128,000 0
HIOls &I X = Al 10,695,000 6,840,000 3,855,000
e SRR 10,695,000 6,840,000 3,855,000
dE T 0120l &t Al 116,199 0 116,199
H =l 0E= 58,423 0 58,423
A D OIES 57,776 0 57,776
Xt o (A'-8') 31,025,433 19,106,141 11,919,292

= NEAS Mol 4=

1. OlBI8] 31,025,433& 2 (At 0l & OflHIH| 3,886,784& &, XF20l&F OlHIH| 27,138,649 &),




